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Question Number : 1 Question Id : 8740816218 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

............. refers to inferring about the whole population based on the observations made
on a small part.
Ush Bic § B8 9¢ @ M5 CWUivEl & AT 9 9 AR & 97 H 566

ap

Options :

Pseudo inference

| % BH TN
Objective inference

. 28 =R

Inductive inference
s o T er=rd

Deductive inference

_ T==fEeg M=y
4, %

Question Number : 2 Question Id : 8740816219 Question Type : MCQ Option Shuffling : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Ex-Post Facto research meang ........coeessensrsss
qeARIT 9N &l andd &
Options :
The research is carried out after the incident

=
2

qoAT @& ULETd 9Ny fhdr TEn B

The research is carried out prior to the incident
TeAl § TEel 9y fGEr T R

The research is carried out along with the happening of an incident
o T TpET "ear & dafed 26 & "1 fHar = B

3.
The research is carried out keeping in mind the possibilities of an incident
% e [=Hdl =TT W HAGTHAl B = H TEG 50 AT 19 E

Question Number : 3 Question Id : 8740816220 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
In a survey, the respondents are interested to discuss the recent private cellular schemes,
but the surveyor asked them about BSNL landline service. What type of error will it lead
to ?
U HAE9l H, ITLC@ISA B B B H el Heere s 97 == B
T oo RE=el B, Wi d9auEdl J S99 S0EUAUs dsded |59 @
a H gsr| f6E 9 @ e BR 7

Options :
Non-response error

. T-—Aia=rg E_IFI
1.

Selection error
) = Egl_c’



Sample error

3. %

Panel error

T :l'l_rr
4. %

Question Number : 4 Question Id : 8740816221 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Total number of digits in Tippet table are :
‘fome’ anerer | T HAD B 5

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to all
candidates.

Options :
. 10,400

9,400
10,200

9,600
4,

Question Number : 5 Question Id : 8740816222 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Endogenous variable is also known as :
WTJT“HW“?‘FIT ATAT =Ald

Options :



Intervening variable

| s HEEC =Y

Mediating variable
, % HEHE] =X

Independent variable

Dependent variable

4 HANM=AT =L

Question Number : 6 Question Id : 8740816223 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Rejection of hvpﬂlhws which is true leads to :

Il il HEFA Al Je &, Heanl 5
Options :

Sampling Error

15312' e

Type II Error

) ® F_..:_\:I I ?:)1‘_”“_.

Type I Error

Estimation Error

Question Number : 7 Question Id : 8740816224 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question



Feature of a hypothesis is :
aftmeaqTr @1 afereg &

Options :

Testability

1 wnﬁam I FT AHAT

Insufficiency

H

[Mogical

= 5
3. %

Complication

_—
4. %

Question Number : 8 Question Id : 8740816225 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is the first step of research ?
T | | SHE-ET 90 @ 95al =510 B Y
Options :

Designing the research
FIFIE ST

1. ®

Data Collection

) % ol | HIEY

Formulation of the research problem

9T HEET AT
3.9 &

Analysis of data
ST W fgeeor

Question Number : 9 Question Id : 8740816226 Question Type : MCQ Option Shuffling : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Sampling error can be reduced by :

=meel & Ffe @ FA fFam = Fwar ®

Options :

Non-probability sampling
| % TT-HEECT ASE E

Increasing the population
ST H giRE 20T

2. %

Decreasing the sample size
3 % TAIGET SHT H HAT I

Increasing the sample size
4. F‘IliﬂT HIBI ﬁ E,lj{-:n al?

Question Number : 10 Question Id : 8740816227 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Empirical research is related to :
AGHEAN AT AGHAE Hiaq 2

Options :
Pure logic

| x A= T H

Observation
) JIETOT H

Theory
FIH =1 s i:\‘l—

3. %

Critical Thinking
ATAEATHE | H

4. %



Question Number : 11 Question Id : 8740816228 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following features one considered as critical in qualitative research
OIeHE: AJEIE H = § § Hi9-91 &9 A=dedE A1 Sar 2

Options :

Woe-D
\

Collecting data with the help of standardized research tools
AT AJHEE 3TH01 & Hew | HATHST H HAET

1. ®

Design sampling with pr ‘obability admpie technique.
"‘:TH-IFC“-JHI HETT SERIEs cll '!:-'IJ-'JIQ‘I*I UTAAT AT

Collecting data with bottom of empirical evidence

, o JTEH ST EN R SE© g SRSt A IR

Gathering data with top down schematic evidence
=TT 2134 ArAAEs 9919 &1 A6l H JU80

Question Number : 12 Question Id : 8740816229 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one among the following statement is true in the context of the testing of
hypothesis ?
TVEReIAl & ST & J<d § 9 § § $E-91 F99 9 2 7

Options :

It is only the alternative hypothesis that can be tested
, I7 BT JepfeTsh afimea & 59 S s q9a&an =

It is only the null hypothesis that can be tested

, o 7B A T O & 59 SEr 51 96T &




Both the alternative and null hypothesis can be tested
, JHICaE TF T GEF B AESIAAT B SrE S OFEES 5

3.9
Both the alternative and null hypothesis can not be tested
. diedd U9 9 Sl 21 Ul &l JB1 S=El S "6l &
4.

Question Number : 13 Question Id : 8740816230 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

If there is a uniform variation in the ratio of the two variable then the regression would
be :

qie & =9 & HAJIT H F§HE [@ig=ar o S, 1 SEEd BE

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to all
candidates.

Options :
Exponential
| RPN

Quadratic

Question Number : 14 Question Id : 8740816231 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



Which of the following is one of the types of "validity' encountered in research design
and methodology ?
Frfaiad § § &M oTgEad fS9e- A sEuemen § 9ga g &

UHEET H H UF = 7

Options :
Statistical validity

- H=T=h T

Integral validity

, 5 T ST e

Modular validity
- Arggay J9ar

Projective validity

. TETT T

Question Number : 15 Question Id : 8740816232 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

In CARE list of journals the "CARE" stands for :

CARE 91Tel UREHIAT &1 991 § "CARE" &7 fg&jd 9 2 :

Options :

Consortium of Academicians for Research Ethics

FEMCTH ATE UHafeE-a BT 9 ufeae

Consortium of Academicians for the Researchers Empowerment

FEMCTT ATF UHSHEEE BT ¢ Egdq Uaigaige

2. %

Consortium of Academic and Research Ethics

- FEllcdd HAF UhsSHE Uvs TEE Ui

Consortium of Academic and Researchers Ethics

FHIMCTH ATE UhHsaE U8 THTH O

4. %



Question Number : 16 Question Id : 8740816233 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Read the statement A and B and choose the correct option :

FIT A AT B 9¢ AT F8l FHT o

Statement (A) : The structured approach to enquiry is usually classified as qualitative
research.

BT (A) : FHE F 0 HHET RO FN AT T IONHT FTHA
% =9 H TEipd [HF1 San 2 |

Statement (B) : In the structured approach, everything that forms the research process —
objectives, design, sample, and the questions that a researcher plans to ask of respondents
— is not predetermined.

HYF (B) : HU=T 0T H, 98 9 {HF S FAJEAH Gihar @ e
FHIAT & — 3eed, S92, 9941, ST F gs9 S UFh sUuhdal o I
T g8d @ AeET g9 B - 99 Hdia 98 el 2 |

Options :
Both the statements are true
| SEl BT 99 B

Both the statements are false

ST U 9 B
2.9

Statement A is true but B is false

—

FIT A I 2 TR B T B

3. %

Statement B is true but A is false
i PO B €9 & T4 A TIed B

4.

Question Number : 17 Question Id : 8740816234 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
"Controlled Group" is atermused in ..............
THEIERT TWHE” e H 0gth THh 9= 3 |




Options :
Survey research
| AT ST

Historical research

) a, %Efﬂrla:'.. h Qﬁa

Experimental research
3 o U ST

Descriptive research

4 % TUETHE &TE

Question Number : 18 Question Id : 8740816235 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Read the statement and choose the correct option given below :
= e W FHHET B UG AT HE AT g

Statement (A) : A hypothesis must not be falsifiable.
HAHBAA (A) : ThHedA [HET Hiieeg F21 81 =M=y |

Reason (R) : If a hypothesis is falsifiable, then science cannot be used to test the
hypothesis,

b (R) : afc 9ftmpea=r e &, @1 aRedr & T0E9 &9 & oo &9
T ITERT F51 BT AT FhaT E |

Options :
Both the statements are true and (R) is the correct explanation of (A)
| % ST FF T 7 AT (A) W HET AVAT (R) % |

Both the statements are true but (R) is not the correct explanation of (A)
, x ST HE § E AT (A) I HE AWAT (R) TE OB

(A) is false j:lut (R) is true

(A) T[T 2 @R (R) 99 2

3. %



Both the statements are false

4\_/%:1” 1T e T 2

Question Number : 19 Question Id : 8740816236 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

To test which of the following is not used a qualitative hypothesis ?
e | | fhEw TEIEY B & faU IOmcHs GishedET W 3UEnT

A

el 5T I BT

Note: For this question, discrepancy 1s found in
question/answer. Full Marks is being awarded to all

candidates.

Options :
t-test

i =)

ANOVA
2. = Bl

Chi Square
3 TIE-TEETEY

F-test

A UH-oie

Question Number : 20 Question Id : 8740816237 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Fundamental research reflects the ability to :
qifereh e &1 &9 &l SeIl & ¢
Options :
Synthesize new ideals
| % MO SATEE T HETWor FHEAT



Expound new principles

NV L - = A IR LA A

Evaluate the existing material concerning research
, x ST HARE ASET HHIAT B G Bl

Study the existing literature regarding various topics

-

&= [Jual & S99 7 AmEer Jied #5 a9 5

Question Number : 21 Question Id : 8740816238 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In sampling technique which of the following is not a part of sampling frame ?
FHAT T H g § H A |1 9T B BT B 7

2Ll HEl B 7
Options :

a list of random numbers
qGi=ed FEAl B FHl

1.

a list of sampling units of a population
Ueh SEEEAT 1 THAT TREAl Bl F=l

a list of voters

a list of respondents only
e ILeIaiAl gl

Question Number : 22 Question Id : 8740816239 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question



In a study of two variables, when the variables change their direction in opposite manner,
then this phenomenon is called :

T =TI F qm:rﬁf o9 =¥ quT e faodig 99 # g5ad 2, o 39
AT T FHET A B

Options :

Positive-Negative Correlation
HEIHE-TRLIHE Haqg9

1. ®

Negative Correlation

EAEIEE = e
) Ahl{IHE H=HdH

Fluctuating Correlation
AT HEHG

Positive Correlation
4 % SBEIHS 2T

Question Number : 23 Question Id : 8740816240 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The stem and leaf dispiw is an effective, quick and simple way of displaying a :

=N AT @ feeE THHT&riiigrt H § [H Ueisid i Us T,
= L = IR - Rt R A
Options :

Hypothesis
o

Frequency Distribution
HAGR [FT7

Research Question
ST Os=



Research Design
AP TS (ATHET)

Question Number : 24 Question Id : 8740816241 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

............... is useful to study changes of values in the variable over time.
UURUURRUUUR - o - = | = = B - e P e [ et 7 e 2 s e P B Tl L
ITIRT 2 |

Note: For this question, discrepancy 1s found in

question/answer. Full Marks is being awarded to all

candidates.
Options :

Pie diagram
Tz AT

Bar diagram
oY AT

Scatter diagram
Thed T

Line diagram

YT T

Question Number : 25 Question Id : 8740816242 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



The effect of the exposure of interest on the outcome is distorted because of the effect of
extraneous factors that are related to both the exposure and outcome. This phenomenon
is called :

U 9Y &S & SgH BT 99 96T el & 99 & BT i

2T B, S Sigd ST 9T ST | 4999 B | 29 9947 1 el Sl B

Options :
Correlation

BEGER]
1. %

Confounding

ENEE
2.¥

Recall bias
EEANIES

Measurement error

4. %

Question Number : 26 Question Id : 8740816243 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

If we are doing an analytical study and the study outcome is of acute nature and rare

condition what is the appropriate study design ?
Of¢ B9 U%F FsuEuds 9499 &Y Y8 B AN JA=Ed & THenH g

[ -

Ui AT gad REfd #r 2, 9 3ugth weEd feoied = o8 v

Options :
Cohort study
| IBIE ST

Case-control study
5 @ PE-BEA T

Cross-sectional study
3 % PIE-STIATEA HEEE



Surveillance

r

4, % IO

Question Number : 27 Question Id : 8740816244 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The validity that refers to the extent to which the new questionnaire conforms to existing
ideas or hypotheses is known as :

g JEAr SN ZH HEd & = 6 e "\ 9% A2 gedrEdl  gEd
gl Ug uigerel & AgET 2, FHeanl 2 o

Options :

Content validity
e JET

1. %

Construct validity

) s [T

Face validity

| T e

Criterion validity

AFCUSE J=dr
4.

Question Number : 28 Question Id : 8740816245 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

According to Goode & Hatt, scaling techniques :
TS AW Bl & AGHT, AJHEA fGfEET
Options :

Convert qualitative data into quantitative

| T e T il TETEE T2 H O geedl 2



Convert quantitative data into qualitative

, % MUIHTCHE d=4l &l b Rl LS 27 4 gea

Measurement of qualitative facts

. -
OMTcH= =41 Rl -SHAJHTEAH
w0 ot )

3. %
Analysis of quantitative facts
y w T T T faeeaor

Question Number : 29 Question Id : 8740816246 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A study where the investigators introduce an intervention and observe the events which
take place is called :
O AFIT Bl AGhdl ZEad I £ AT 39 TeATAl B AT HIA
Options :
Observational Study
L% PpEE DI LD e

Descriptive Study
., AUHTHSE T

Case-Control Study
3w AR H ST

Experimental Study
4 TEANHE AT

Question Number : 30 Question Id : 8740816247 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



A research problem is considered to be good, if it meets the h:sl]::rmng criteria :
LG 7} ST ETF'_-IT I T =BT T AT '% e I-—IHIUII‘CJFI OS9Si i de

T.T =h ;.x B

Options :
Fit, inconvenient, Noble, Ethnic, Revcrivmg (FINER)
|Uf""" u-H-_le’—J"-HJ‘E-ICh Hel, I!IFEI'H BIEE ]

1. %

Feasible, Interextmg, Novel, E[th"ﬂ and Relevant (FINER)

2chanq e, 9919, Jfas AT USRS

Fluctuating, Innocuous, Noticeable, Entrepreneur, Residual (FINER)
EIAd, ARNEY, =9 o4 9F49, 3P, FdiETe

3. %

Foolish, Impertect, Natural, Erratic, Revolutionary (FINER)
4% HeEamgol, AY0l, UThice, TTead, Hifcehi]

Question Number : 31 Question Id : 8740816248 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

COPE stands fr:-r
COPE #HI # =
Options :

Committee on Publication Errors

| T et a7 s

Committee on Publication Ethics

2J‘Iﬂﬁrf o9 Sfcepar 9¢ SEaf

Commuission of Potential Editors
s % SHANIT HIGH BT ATAN

Community-based Outputs for Public Education

S i1 e O o e R s £ e e )| R M EeAs



Question Number : 32 Question Id : 8740816249 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Each of the following is true about cross sectional study, EXCEPT :
FTefeiad H § Oo9 T-SANE ASEE & 9 ° "59 7, [SEe

Options :

Unable to measure incidence
ZMT&dT (incidence) T 194 H A=Y

1. %

Data are collected at multiple points in time
» T ® FE gl U S uwd A S

2.
Relatively quick and easy to conduct
3 = o= ror=a S 3 K =
s AUART Seel AT AT H OAEA

Able to measure the prevalence
4% =TT (prevalence) Tl 199 § Fe79
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Standard Error is nothing but :
q=E g 7 ¢
Options :
Standard deviation of population distribution
- aigeie fgaer #1319 faEe

Dispersion Error

2% e

Standard deviation of sampling distribution

- Hee 9979 1 99 e




Conceptual Error

) - r._-"l __r-i
4. % 3
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

DOI in a published research paper stands for :

UF THI9T ST 9= # Slo #ATo AEo &l A9 & ¢
Options :
Directory of Index

Digital Objective Index
fefied 3gesd gadhih

Direct Object Identifiers
e J TS

Digital Object Identifier
Sisfea Hlssfae T=a=EHdl
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the following is a techniques used for controlling experimenter bias ?
TANTRTT IiEE B HEET w3 & fu Mefaiad 3 " -1  @A1E H

= -

START &pET ST & 7

Options :
Double eyed technique
sgul-Hlzs dh-ldh

1. =



Open eyed technique
HATA-HAZS THAIE

2. %

Double blind technique
SET-=A2S b1

3.¢

Open blind technique
HATTA-=AZE bl
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Study the following graph and answer the question :

ME FH FAFIT HY 37T U H 397 2 ¢

Crime in a City

36
33

Kidnap Murder Assanlt Rape Dowry ]:Ellhﬁ

What was difference in crime between 1999 and 2000 ?
1999 1% 20007F == FIZH H fohaar 37 =7 7

Options :

L& 14



16

18

20
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Study the following graph and answer the question :

TrfoaT OF =BT SA=09 hY 337 Us9 397§ ¢

Crime in a City

36
33

Kidnap Murder Assanlt Rape Dowry ]:Ellhﬁ

What was increase percent in rape from 1999 to 2000 ?
9 1999 2000F Y9 § Fhz ofaerd fmam ar 7

Options :

1.@*’“%

40%

2. %
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Study the following graph and answer the following question :

rTANgT O BT 79999 e 37 U U gys9 &l 397 ¢ ¢

Students Going Abroad for Study from Different States/UTs
T~ 1991 /g 9Ed Ueel & =99 & o &esT o1+ 9 81

State/U.T. Year

1995 1996 1997 1998 1999
Maharashtra 723 840 900 920 925
Kerala 1035 940 1200 1400 1500
Karnataka 750 600 830 575 900
West Bengal 500 550 450 600 25
Delhi 1500 1625 1700 1475 1800
Andhra Pradesh 800 840 873 025 785
Total 5308 5395 5935 5895 6435

What was the percentage increase in the number of students from West Bengal from
1997 to 1998 ?

1997 & 1998 T Tie=A =¥ & BIEI FI AT H fHad giqeT & ghe 52
oq 7

Options :

..
66=
1. % 3
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Study the following graph and answer the following question :

oS 1% &1 3599 e 1L feU U 9= H 397 < ¢

Students Going Abroad for Study from Different States/UTs

-

i~ 141/ F2 T ueet & F=ET # fou f9ter I a9t 8E

State/U.T. Year

1995 1996 1997 1998 1999
Maharashtra 723 840 900 920 925
Kerala 1035 040 1200 1400 1500
Karnataka 750 600 830 575 900
West Bengal 500 550 450 600 25
Delhi 1500 1625 1700 1475 1800
Andhra Pradesh 800 840 873 925 785
Total 5308 5395 5955 5895 6435

In the case of which State/U.T. was there a continuous increase in the number of students

over the given years 7

2723 MR o 7> Gt PO 7B | £ [ i N -l L 1| B =7 =1 = s =2 | e B | R |

.

3
=

GJH
L

Options :




Kerala

"j.r ]

Andhra Pradesh
AT 89T

Maharashtra
4.0 TR
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Identify the citation style if an article is cited in the following manner Kammer, Minian.
"Breaking the bounds of Domesticity : Ecofeminism and nature space in Love's Labour's
lost" Shakeapmre Bulletin, vol. 36, no. 3, 2018, pp. 467- 481

TS BIE g g a9 § 3| fhdl T 2, O IS0 9l TEE-

FH7, MHEE | J3T § asvsd AT %lﬁw?mﬂ : ZHIBET r..',?:.r TET AH
=9 W9 oEE i SIEETET gaiicd, vol. 36, no. 3, 2018, pp. 467-483
Options :

APA

3.¢¥

Chicago
IEEAR
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Question Number : 41 Question Id : 8740816258 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

In simple stomach animals, during the chewing of a bolus of food, but before
swallowing, salivary secretion, gastric secretion, and pancreatic secretion are stimulated
by which of the following neurocrine, endocrine, and paracrine mediators 7

Options :

L ACh, gastrin, histamine

) % ACh, CCEK, nitric oxide

3 % Nitric oxide, vasoactive intestinal polypeptide, histamine

4 % Vasoactive intestinal polypeptide, gastrin, somatostatin

Question Number : 42 Question Id : 8740816259 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Camelids are less prone to bloat because . _..................

Options :



| % It has less surface area

) % The ingesta are found neatly layered by tibrous material content

It eructate more often
3.9

4 % They possess all the chambers of forestomach

Question Number : 43 Question Id : 8740816260 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Tests show that glucose is absorbed as expected by a patient if sucrose, lactose, or
glucose is ingested, but not if complex starches are ingested. These data indicate a defect
in which of the following ?

Options :

| % Bile acid secretion

) % Brush border enzvme levels

3 % Epithelial sodium-coupled glucose transport

Pancreatic enzvime secretion
4. )
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

It one considers a single vessel within each division of the systemic circulation in an
animal which is lyving down, one can arrange the vessels according to the end pressure,
greatest to least, within each vessel. (If the vessel exhibits a pulse pressure, one can
consider the mean end pressure.) Which of the following sequences of mean end pressure
is correct in this case 7

Options :

| % Large artery — large vein — arteriole — venule — capillary



) % Capillary — arteriole — venule — large artery — large vein

3 o Large artery — arteriole — capillary — venule — large vein

4 % Large vein — venule — capillary — arteriole — large artery

Question Number : 45 Question Id : 8740816262 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Period when ventricular action potentials are in their plateau phase :
Options :

| % P wave

PE. interval

3 % QRS complex

4 ST segment

Question Number : 46 Question Id : 8740816263 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Ditfusion limitation for .................. can be corrected by increasing the ...............
concentration in inspired air.

Options :

7 o COLO
5 % N0, CO;

4. w 031 03
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replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In a patient with diarrhoea, the oral administration of a solution containing NaCl and
glucose is more etfective in preventing dehydration than is the administration of a
solution containing only NaCl. Which of the following facts best explains this
observation 7

Options :

| % Adnunistration of the NaCl and glucose solution reduces stool output

Glucose 1s used as fuel to effect the co-transport of Na and Cl across the apical
) % membrane of intestinal epithelial cells

The co-transport of glucose and Na across the apical membrane of intestinal

3 epithelial cells facilitates Na and water absorption

The NaCl and glucose solution empties from the stomach at a faster rate than does a

4% solution containing NaCl alone

Question Number : 48 Question Id : 8740816265 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

It an individual becomes hypovolemic, such as during periods of diarrhoea or excessive
sweating, plasma ADH, or arginine vasopressin, levels are elevated rapidly and urine
volume is decreased (antidiuresis). This effect of ADH on water excretion predominantly
occurs in the collecting ducts by ADH-induced activation/inhibition of which of the
following steps/processes 7

Options :
| % Inhibition of sodium reabsorption

9 ® Increased leakiness of the collecting duct to water and solute

3 % Insertion ot sodium channels in the luminal membrane



4 Insertion of aquaporin channels in the luminal membrane

Question Number : 49 Question Id : 8740816266 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Recovery from a severe metabolic acidosis is most dependent on which of the
tollowing 7
Options :

| % The rate ot ventilation to blow off excess CO,

) % The rate of H' secretion by the kidney

3« The rate of H" excretion by the kidney

4 % The arterial pH

Question Number : 50 Question Id : 8740816267 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

There is a higher percentage of Iymphocytes than neutrophils among the ............
species.

Options :

| % Pig, Cow, Horse and Cat

) % Pig, Horse, Dog and Cat

3 % Pig, Cow, Sheep and Dog

4. Pig, Cow and Goat

Question Number : 51 Question Id : 8740816268 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one of the following cells might become more prevalent in circulating blood
during a prolonged period of erythropoietin secretion 7
Options :

1 % Platelet
, % Monocyte
3 Reticulocyte

4 % Eosinophil

Question Number : 52 Question Id : 8740816269 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In respiratory compensation of metabolic acidosis, the pH of body fluids returns toward
normal, but the CO, content of body fluids is ............. as a consequence of respiration.
Options :

| % Increased, increased

h Decreased, decreased
3 % Increased, decreased

4. Decreased, increased

Question Number : 53 Question Id : 8740816270 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Administration of large amount of Vit A to young calf can induce premature closure of
physes in which of the following condition ?

Options :

Hvena disease
1. -



) % Milk fever
3 % Enteque Seco

4 % Steatitis

Question Number : 54 Question Id : 8740816271 Question Type : MCQ Option Shuffling : Yes Is Question
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
A true hibernator :

Options :

| % Is not represented by the bear

, % Maintains a constant body temperature even while it sleeps through cold weather

Abandons homeothermy in the cold and may treeze if body temperature becomes

W g i imne
3 % lower than freezing

Abandons homeothermy in cold weather but will awaken if body temperature

4 approaches freezing or some other higher set point
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

................ and ................ describe the physiological changes with fluctuation in
single and several environmental parameters.

Options :

| % Adaptation and acclimation

) % Adaptation and Acclimatization

3 % Acclimatization and acclimation

4 Acclimation and Acclimatization
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The main hormone secreted by the dominant follicle that allows the follicle to maintain
its dominant state is :

Options :

|« Estrogen

5 % FSH
3 % Oocyte-inhibiting factor

4. % Progesterone

Question Number : 57 Question Id : 8740816274 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

When a neonate exposed for a few days, Ewes will usually accept them, this
phenomenon is called as ................ .

Options :

| % Classical conditioning

) % Chant de Coeur

3 Concaveation

Spatial Learning
o
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Question Label : Multiple Choice Question
Rise in estrogen concentration at the initiation of parturition favors ............... .
Options :

| % Blocks myometrial contraction during pregnancy

) Overcome the progesterone block of myometrial contractility

Induce luteolysis in CL dependent species

4 % Increase the enzyme 17 alpha hydroxylase concentration in plasma

Question Number : 59 Question Id : 8740816276 Question Type : MCQ Option Shuffling : Yes Is Question
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A 11 year old spitz is diagnosed with small-cell carcinoma of the lung. She has a
paraneoplastic effect from the cancer, with release of an ADH-like agent. Which of the
tollowing is most likely to be seen ?

Options :

| % Elevated serum sodium

5 Elevated serum osmolarity

3 o Elevated urine sodium

4% Elevated urine catecholamines
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

A hypertensive patient was prescribed the diuretic Lasix (furosemide) to increase urinary
output. Furosemide, a "high-ceiling” diuretic, is a potent agent because it binds to and
inhibits which of the following transport processes 7

Options :



+ . -
s The Na -glucose co-transporter in the proximal tubule

+ ot . )
) % The Na -K ' exchange pump in all nephron segments

v The Na'- K+-Cl_cm-t1'anspnrter in the thick ascending limb

* The Na™-CI” co-transporter in the distal convoluted tubule
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Depolarization of hair cells during the bending of stereocilia occurs because bending
causes which of the following responses 7
Options :

. +
L% Closing channels that carry an outward K current

- . +
) ® Closing channels that carry an inward Na  current

3 % Closing channels that carry an inward Ca™ current

= . +
4. Opening channels that carry an inward K current
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

............... is the one and only glial cell present in PNS.
Options :

[ % Microglia

9 ® Oligodendrocytes

3 % Ependymal Cells



Neurolemmocvtes
4. :
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of following fibers release Norepinephrine (NE) 7
Options :

| % Preganglionic fibers innervating the adrenal medulla

h ® Postganglionic fibers causing bradycardia

3 % Postganglionic fibers causing constriction of the iris

4 Postganglionic fibers causing arteriolar constriction
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Question Label : Multiple Choice Question

While you are standing, holding a dressing tray piled with surgical instruments, an
additional 1 Kg of sterilized surgical gauze is placed on your tray. Your muscles that are
holding the dishes increase their force of contraction through an increase in which of the
tollowing ?

Options :

L% Length of the muscle

) Number of motor units activated and the frequency of their activation

3 % Peak intracellular calcium concentration in the muscle

4 % Strength of each individual cross-bridge interaction with actin filament

Question Number : 65 Question Id : 8740816282 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

An experimental animal is instrumented to monitor plasma glucose and insulin levels.
After a control fasting period to establish a steady state, a test substance is administered
to the animal. Shortly after the administration of the substance, there is an increase in the
plasma insulin concentration and a fall in the plasma glucose concentration. The
substance is most likelv which of the following ?

Options :

1. % Glucagon

> #% Epinephrine
3« A sulfonylurea compound

4 % Somatostatin
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Question Label : Multiple Choice Question

For long bone growth, Growth Hormone acts on which of the following cells 7
Options :

1+ Chrondrocytes

) ® Osteocytes
3 % Intracellular matrix

4 % Lymphocytes

Question Number : 67 Question Id : 8740816284 Question Type : MCQ Option Shuffling : Yes Is Question
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Every increase of l-degree Celsius in body temperature increases metabolic rate by 10
percentis ............... effect.

Options :



1 % Fenn effect
) % Braking effect

3 Van't Hoft effect

4 % Haldane effect
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Puberty in the male :
Options :

| % Occurs at about the same time for all species

Is defined as when he is first able to produce sufficient numbers of sperm to
R4 impregnate a female

3 % Is influenced only by the age of the animal

4 % Is synonymous with sexual maturity
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The growth of the bovine mammary parenchyma betfore and after puberty is .............
and ...

Options :

| % [sometry and Isometry
R4 Isometry and Allometry

3 % Allometry and Isometry



4 % Allometry and Allometry
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replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Egg spends the greatest amount of time in which of the following part of the avian
reproductive tract 7
Options :

| % Magnum

. 15
) % [sthmus

3 Shell gland

4 % Infundibulum
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Flow cytometry is used for studving :
Options :

| % Cell size

Type ot cell
w

3 % Surface antigens

4 All of the three
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Identification of individual by their DNA was invented by :

Options :
| % Har Gobind Khorana
) % Kary Mullis

3 Alec Jettreys

4 % Louwis Pasture
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Highly repetitive DNA is not seen in :
Options :

L Polysome

) ® Microsatellite DNA

3 % Telomere

4 % Cenfromere
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Most common enzymatic tool in genetic engineering is :
Options :

| % Helicase

) % Topoisomerase



3 % DNA Ligase

4. Restriction endonuclease
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Single base pair substitution can be detected through :
Options :

L RFLP

) ® PCR

; « FISH

4 % Southern blot
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

For PCR which of the following is not essential 7
Options :
| % Mgcl2

Taq polymerase
Primer

3. %

4 « Radiolabeled DNA

Question Number : 77 Question Id : 8740816294 Question Type : MCQ Option Shuffling : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is net a nucleic acid-based test ?
Options :
1« Western blot

% Southern blot

3 % Northern blot

Microarray

4. % °
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the following is correct for the RFLP sequence tfor identification by E. coli
restriction endonuclease enzyme 7

Options :

| CATATC/CTATAG

) % GATATC/GATATC

3 % AATATA/TATAAT

4 % GATATC/CATTGA
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

DNA estimation can be done by :

Options :



i Spectroscopy
5 % Chromatography
3 ® Electroscopy

4 % None of the three
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Physiological function of melatonin :

Options :

| % Facilitates ACTH secretion

) % Prevents sleep induction
4 Regulate the circadian day night rhythm

4 % All of the three
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Localization of the receptor of a hormone X is found to be in the nucleus. What is likely
tobe X 7

Options :
Insulin

1. %
) Adrenaline

, » FSH

4 Thyroxine
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
JAK-STAT kinase receptor is associated with :
Options :

| % Increase cAMP

5 % IP3-DAG

3 ® lon channels

4 Nuclear transcription
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following liver enzyme is predominantly mitochondrial ?
Options :
| SGOT

5 % SGPT
5 % GGT

4. % 3 Nucleotidase
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is a suicidal enzyme ?

Options :



| % Lipoxygenase

Cveclooxvegenase
2.9 7 il

3 % 9" Nucleotidase

4 % Thromboxane synthase
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Trypsin, chymotrypsin and elastase enzymes are examples of :
Options :

L Hydrolase

5 % Lyases

3 % Synthase

4 % Ligase
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which of the following statement is false ?
Options :
Prokaryotic flagella is composed of the protein flagellin while eukaryotic flagella is
1 % composed of tubulin

Movement of Prokaryotic flagella is rotational while eukaryotic flagella moves
) % laterally

3 % WVery long cilia, such as sperm tails, are termed tlagella

4 Microfilaments are major constituents of flagella
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Sodium dependent amino acid transport in intestine is prevented by :
Options :

L Colchicine

) % Cytochalasin B

3 % Colcermd

4 % L-amamiin
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Syglecs or Sialoadhesins are a tamily of lectins consist of :

Options :

| I1 lectins which bind terminal sialic acid residue of polysaccharide chain

) % 10 lectins which bind terminal sialic acid residue of polysaccharide chain

3 % Il integrins which bind terminal sialic acid residue of polysaccharide chain

4 % 10 integrins which bind terminal sialic acid residue ot polysaccharide chain
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Oxidation of the terminal alcohol group of glucose to the carboxyl level produces :



Options :

| % Gluconic acd

R4 Glucuronic acid

3 % Glucosaccharic acid

4 % MNone of the three
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Lectins HSV-1 and HSV-2 present on Herpes Simplex Virus binds to which of the
following GAG present on the host cell :

Options :
| % Drermatan sulfate

) % Keratan sulfate

3 He paran sulfate

4. % Chondroitin sulfate
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which of the following statement is false about the Amadon rearrangement 7
Options :
| % It involves an aldose and a suitable amine under acid catalysis

An Amadori product is an intermediate during formation of advanced glycation end-
) % product (AGE)

3 % It increases in diabetes mellitus



It is an organic reaction responsible for enzymatic glycosylation of macromolecules,
especially proteins
g @ SPEENP
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The variability of ligand binding with proteoglycans mainly depend upon :
Options :

| % Variety of core protein

) Pattern of sulfation in the NS domain of attached GAGs

« Type ot bond between core protein and attached GAGs

4 % Negative or positive charge present on trans-membrane domain
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Pepsin digestion of immunoglobulin produces :
Options :
| % 2 (Fab) + (Fc)

) F{ab')2 + pFc'

3 % 2 (Fab) + pFc'

4 % Fiab')2 +(Fc)
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the following is not a method for determination of three dimensional structure
of protein 7

Options :

| % X-ray crystallography

) % NMR spectroscopy

3« Mass spectrometry

4 % Dual polarisation interferometry
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Question Label : Multiple Choice Question

Membrane proteins attached to N-myristoyl, farnesyl and geranylgeranyl groups are
tound :

Options :

| % On the extracellular face of the plasma membrane

) On the intracellular face of the plasma membrane

3 ® Between the two lipid bilayer of the plasma membrane

4 % Randomly on the extracellular and intracellular face of the plasma membrane

Question Number : 96 Question Id : 8740816313 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which of the following is not true about Flippases 7
Options :
Translocate  primarily  aminophospholipids,  phosphatidylethanolamine  and
| % phosphatidylserine



® Translocate lipids from the outer(exoplasmic) leaflet to the inner (cytosolic) leaflet

3 % Require ATP for translocation

4 Are members of the V-type ATPase family
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Measurement of lateral diffusion rates of lipids on a plasma membrane is done by :
Options :
| « FRAP

, » FTIR

3 % Atomicforcemicroscopy( AFM)

4 % MALDI-TOF

Question Number : 98 Question Id : 8740816315 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
In which state of a chemical reaction, free energy (G) is maximum :

Options :

1 % Ground state of substrate
y % Intermediate state

3 Transition state

4 % Ground state of product
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the enzyme having following Km will have highest affinity for their
substrates 7
Options :
Eml=004
£

w2 =0.005
2\_/!\1 0.00

3 % Emi=15

 EKmd=24
4, ®
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

"Warburg effect” is:
Options :

| % Glucoseconsumption increases under aerobic conditions

) % Glucose consumption increases under anae robic conditions

3 % Inhibition of oxygen consumption by addition ot glucose in high aerobic glycolysis

4 Increased glycolysis in cancerous tissues



